
  

User:  jdmpx  |  Contact Us

Parts Catalog - Option Detail   

Electronic Parts Catalog - Option Detail

Option Group Graphic Film Card Date

HX6124-05 08.10 hx601gr K38 12-SEP-05

Engines GTA38, K38, KTA38GC CM558, QSK38 CM2150 K106, QSK38 CM2150 MCRS, QSK38 CM850 MCRS

SMALL | MEDIUM | LARGE
 

Cart Ref No Part Number Part Description Required Remarks

View My Cart

  HX6124-05 Heat Exchanger  Heat exchanger...(More)

     engine mounted titanium plate

     heat exchanger located at the

https://qsservices.cummins.com/qshd/feedback.php?productid=1
javascript:swap_img('hx601gr','/rtgraphics/english/parts/hx/6/hx601gr_sm.png');
javascript:swap_img('hx601gr','/rtgraphics/english/parts/hx/6/hx601gr_md.png');
javascript:swap_img('hx601gr','/rtgraphics/english/parts/hx/6/hx601gr_lg.png');


     front of engine. Heat

     exchanger contains 42 plates

     for cooling both the engine

     and LTA circuits.

     Does not have

     Provisions for mounted gear

     oil cooler. For

     Use with KTA38M2 only.

1 3970833 Heat Exchanger 1  

2 S 102 D Hexagon Head Cap Screw 2 3/8 - 16 x 3 in.

3 S 104 Hexagon Head Cap Screw 4 3/8 - 16 X 2 1/4 in.

4 S 105 Hexagon Head Cap Screw 2 3/8 - 16 X 3 1/2 in.

5 S 106 C Hexagon Head Cap Screw 2 3/8 - 16 X 4 3/4 in.

6 205059 Plain Washer 4 3/4 Inch.

7 206511 Twelve Point Cap Screw 4 3/4 - 10 X 4 Inch.

8 3036460 Spring Washer 10  

9 3049368 Connection Gasket 1  

10 3349014 Hexagon Head Cap Screw 1  

11 3349015 Hexagon Head Cap Screw 1  

12 3393135 Water Bypass Connection 1  

13 3393303 O-Ring Seal 2  

14 3637472 Tube Clamp 3  

15 3897359 Plain Washer 5  

16 3959257 Water Transfer Tube 1  

17 130228 Hexagon Head Cap Screw 4  

18 3897748 Plain Washer 4  

 
© 2019 Cummins Inc., Box 3005, Columbus, IN 47202-3005 U.S.A. 

Terms of Use and Disclaimers  |  Recommended System Requirements 
Need Assistance? Please click on the Contact Us button in the top right corner of any page.

https://quickserve.cummins.com/qs3/qsol/terms.html
https://quickserve.cummins.com/qs3/qsol/system_requirements.html

